Slide table cylinder AIl'TAL

HLH Series

Installation and application

1. The actual loading and moment of cylinder must be less thanit’s allowable loading and moment:
1.1) The allowable moment of cylinder

Pitch moment Mp Yaw moment My Roll momentMr ~yq4el/Allowable torque (Nm) | Pitch momentMp | Yaw momentMy | Roll moment Mr
F HLHG6 0.25 0.25 0.41
M *F HLH10 0.95 0.95 1.49
p(« © oo T — - HLH16 3.28 3.28 3.45
G = Q — I —— HLH20 6.29 6.29 6.61

1.2) When the cylinder is subjected to different type of moment, there will be different degree of shiftin performance, please refer to the following table for details.
Table deflection due to pitch moment ' Table deflection due to yaw moment ' Table deflection due to roll moment
Table deflection (arrow) when a load acts upon thei Table deflection (arrow) when a load acts upon the Table deflection(at A) when a load acts upon
section marked with the arrow at the full stroke of | section marked with the arrow at the full stroke of section F at the full stroke of the compact slide.

the compact slide. | the compact slide.

i
i
i
i
i
i
i
‘ :
i i
v ! ;
i E |
Mp( ! :
i 5 5 i
s (= |
- i i
i i
i i
Model:HLH6 ! Model:HLH6 | Model:HLH6
- glz 25,30 3 - 0.10 2530 | - 0.04
E 108 15,20 : £ o 15,20 1 £ 00
E | = i
: 0.06 5,10
S 0.6 510 i s i S oo
S i S 0.04 i E
D 0.04 | 2 i = 001
S o002 Stroke ! & 0.02 _ Stroke ! K
i i
0
0 0.1 0.2 0.3 04 i 0 0.1 0.2 03 04 i 0.2 0.4 0.6
Pitch moment Mp(N.m) i Yaw moment My(N.m) i Roll moment Mr(N.m)
i i
Model:HLH10 i Model:HLH10 i Model:HLH10
2 ! 0.07 50 ! 0
i 0.06 40 | —
— 0.1 s, 3 T oos =] fggg i E 0.015 =
0.08 —
E’o 06 = 23 % ! §°'°4 // s/ : = 0010 T
i i !
s 008 —————" ;5 ; S0.03 | S
3 — | Strok ; 002 / ! 3 o005
= 0.02 B = - roke i = 001 ! } | =
S - ' |7 Z ' Stroke : 3 .
0 0.2 0.4 0.6 0.8 1. ! 0 0.2 0.4 0.6 0. ! 02 04 06 08 10 12 14
Pitch moment Mp(N.m) | Yaw moment My(N.m) ! Roll moment Mr(N.m)
i i
i i
Model:HLH16 ' 006 Model:HLH16 | 0025 Model:HLH16
0.12 ! — 60 i !
60 i —0.05 | : == i —
£ o =50 | == : = 0020
E.0.08 e | Eo04 /j 25/30 ; E o015
- % | = 003 2 15/20 | - -
5 006 = 5 ! Ss” / 5/10 | S 0010
Boo 2 = ° i g 00 s : S 0005
2 002 [ Stroke) | B 00" - troke 3 T —
0 05 o T3 20 i 0 0.5 1.0 1.5 2.0 | 0 05 10 15 20 25 30
" Pitch moment Mp(N.m) ’ i Yaw moment My(N.m) ! Roll moment Mr(N.m)
i i
I 1
1 1
. Model:HLH20 Model:HLH20
014 Model:HLH20 . 3 007 | w | 0025
o2 ——150 | oo % i £ 0020
E o 40 1 g 008 ‘ 2530 i £
Eos 20130 | =0.04 310 ; = 0015
c — | ! S 0.03 Z 5/10 ! S
S 0.06 —— 510 ! S ; S 0010
o4 cm— ! g o0 : 1 8 5005
= 002 [ = Stoke| | A 1 Stroke | e
z i | ; i 0
05 10 15 20 25 30 35 1 05 1015 20028 ; 0 05 1_ 15 2 25 3 35
Pitch moment Mp(N.m) ! Yaw moment My(N.m) ! Roll moment Mr(N.m)
i i

2. The compact slide can be piped from 3 directions. Confirm the pressure ports and operating
direction. (See drawing right )

3. In compact slides with sensor switch, there is a danger of sensor switch malfunction if the mounting pitch
is less than the dimensions shown in Table right. Be sure to allow at least the indicated interval.

At least indicated interval (mm)/Model | HLH6 | HLH10 | HLH16 | HLH20
d 5 5 10 15 (Onbothsides)  Defaultport
L 21 25 35 47

4. When the output of the compact slide will be directly applied to the table, it should be applied along the rod axis. (See drawing below.)

F_’i{ e oo F*QE[ e oo
Ul (2 e @]

The loading and piston rod are coaxial The loading and piston rod are offset

V4




Slide table cylinder AIl'TAL

HLH Series

5. Be sure to use a flow control value, and adjust the speed to 500mm/s or less.
6. A compact slide can be mounted from 4 directions. Don't exceed the max.fastering torque then fightening the mounting bolts.

|
‘ ‘ | TN
Lateral Mounting(Through Holes) | Lateral Mounting(Tapped Holes) | Axial Mounting(Tapped Holes) M Tf
B o= ©
i i, = :
| NN Y !
: fad hd :
Model | Bolts |Max.fastening torque | L1 3 Model | Bolts Max.fastening torque| L1 | L 3 Vertical Mounting(Tapped Holes) Loll]l|®)]
HLH6 | M3x0.5 1.1(Nm) 12.7 | HLH6 | M4x0.7 2.5(Nm) 127,94
HLH10| M4x0.7 2.5(Nm) 15.6 | HLH10| M5x0.8 5.1(Nm) 15.6(11.2 1 Model| Bolts |Max fastening torque| L
HLH16| M4x0.7 2.5(Nm) 20.6 i HLH16| M5%0.8 5.1(Nm) 20.6 16.23 HLH6 | M3x0.5 : 1.1(Nm) 5
HLH20| M5x0.8 5.1(Nm) 24.0 | HLH20| M6x1.0 8.1(Nm) 24.0/16.0 HLH10| Max0.7 .5(Nm) 6
3 3 HLH16| M4x0.7 2.5(Nm) 6
: : HLH20 | M5x0.8 1(Nm) 8

7. Work Piece Mounting
7.1) Work pieces can be mounted on 2 surfaces of the compact slide. When mounting a work piece, tighten the bolts properly at a torque value within the
limiting range.

Front Mounting Top Mounting

Work piece

Model | Bolts | Max fastening torque | L 3

HLH6 | M3x0.5 1.1(Nm) 55 Model  Bolts |Max fastening torque | L

HLH10| M4x0.7 2.5(Nm) 75 HLHG | M3x0.5 |  1.1(Nm) 6.5

HLH16| M4x0.7 2.5(Nm) 10 | HLH10| M4x0.7 5(Nm) 8

HLH20| M5x0.8 5.1(Nm) 1M1 HLH16] M4x0.7 2.5(Nm) 9
3 HLH20| M5x0.8 1(Nm) 9.5

Work piece

7.2) Since the table is supported by the linear guide, take care not to apply strong impact or large moment to the guide section.
7.3) Hold the slide when fastening work pieces with bolts, If the body is held while tightening bolts, excessive moment may damage guide section.

Work pieces Work pieces

Hold the slide and fasten the bolt L)ﬁ \ Hold the body and fasten the bolt

Dimensions

HLH6

3 1
[ Eoe—F
[ [

3-M4x0.7Thru.Thread,Thru.hoIeCD_3.5 4-M5%0.8(2-Sides)  4-M3x0.5 Strokelltem | A | AB AC|JB KB | LB
2-M5%0.8 Countersink 6-6 Dp: 3.5 - Thru.Thre 5 445 36 | 42 | 14 10 | 10
4-M3x0.5Dp: 5 © A . 10 495/ 41 4214 15| 10
Ié O é 9‘ l: 15 545/ 46 | 52 | 24 | 20 | 20
- O
< 2 . [ ol e A3 20 59.5| 51 | 52 | 24 | 25| 20
= s - I - < N4 25 64.5| 56 | 62 | 30 | 30 | 30
¢ OO
= 299 o )8 ‘ iR 30 69.5/ 61 |62 30 | 35| 30
105 4 18 1o o]
T 5.9 15
AB
A 16
2-M3x0.5 Dp: 6.5
N S PN
—— o go
o Q © [

V4 189



